Year 10 Chapter 8 Equations Booklet
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7 Solve the following equations.
a 2x+5=7 b 3x+

f 10x+92=2 -

c 4x-3=9 d 6x+13
e Sx+16
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8 Solve the following equations.
X0 Xy3-

a i+275 b 6+] 3
d

x_3_
i-3=2 e
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9 Solve the following equations.
a ml_
2
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Exercise 8B
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2 When ~2(x - 1) is expanded, the result is:
A -2x-2 B -2x+1 C -2x+2
D 2x+2 E 2x+1

3 When 2x is subtracted from both sides, Sx+ 1 =2x — 3 becomes:
A 3x-1=3 B Tx+1=-3 € Tx+l=
D 3x+1=3 E 3x+1=-3
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4 Solve each of the following equations by first expanding the brackets.

x-@oo

A+ =9
+s)=12
Sa+1)=10
6m—3)=6
Ta-8)=14
53+

4x-1)=16
4a-2)=12
2x-10)
3d+4

2(a-3)
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5 Solve the following equations.
a 3Qx+3)+2x+4)=25
© 22x+3)+3@x-1)=51
& 4Q2x-3)+2x-4)=10
g 2Ax-4)+3(x-1)=-21

22x+3)+4(x+ 1) =42
3x-2)+5(x+4) =36
206x- 1) +32x -
4Qx-1)+202x-3)=-22

6 Solve the following equations.
a 3Qx+4)-4(x+2)
© 2(3x-2)-3(x+
e 8(x-1)-20x-2)=2
9 52x+1)-3(x-3)=35

25y +4) - 32 +1)=9
2Ax+1)-3x-2)

52x-3)-206x-1)
42x-3)-203x-1)
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7 Find the value of x in the following.
a

x-@ oo
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8 Solve the following equations.

a H2-5 b 234 c
4 5532 e il t
S5x=3_g h 3x=6_g i

9 =3 3
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9 Solve the following equations.
a J+1=s b

3,
d 3-2=s e

vl

i
¥
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Exercise 8C
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1 State the letter that is the subject in these formulas.

= - -4 [ !\
* e b o v —
d A=n? e c=N2+b2 f P=2x+2y
2 Substitute the given values into each of the following formulas to find the value of each subject.
Round the answer to one decimal place where appropriate.

L when F=180and a=3

b A=lv, when/=6andw=8
c A:%(,nb)n, whena=6,b=12andh=4

a m=

gz &

when x=56andy=4

d =12 +2as, whenu=6,a=12ands=7 e
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3 . find £ when:
, u=8anda=2 b v=20,u=8anda=3
c v=100,u=10anda=9  d v=84,u=4anda=10

4 If P=2(/+2b), find b when:

b P=48and/=6
c P=96and/=14 d P=124and/=36

5 If ¥ =hwh, find h when:

a ¥=100,/=5and b V=144, /=3andw=4

¢ V=108, /=3and d V=280, /=8and w=5
6 If A=3bh, find b when:

a A=90andh=12 b A=7T2andh=9

¢ A=108andh=18 d A=9%andh=6

7 uA:g(an), find h when:

A=20,a=d4andb=1
andb=7

aoeow
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Exercise 8D
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1 Match each inequality given with the correct number line.

a x>4 A — .

42024638

b x<4 B —

c x24 c o

420346 8

2 Match each inequality with the correct description.

a x<2 A xis greater than 2
b ox22 B xisless than or equal to 2
c x<2 C xisless than 2

d x>2 D xis greater than or equal to 2
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3 Write each graph as an inequality.

4 Show each of the following on separate number lines.

a x27 b x>1
d x<1 e x2-1
-2 h oa>-15

c x<l

1
i

az0
h<s

d x
5 & 7

i -~
78 9 1011





image22.png
6 Write each of the following as an inequality and then show each solution on a number line.
a xisless than or equal 0 6 b xisgreater than 4
¢ xisless than 2 d xis greater than or equal to §
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5 Write an inequality to describe what is shown on each of the following number lines.
a —
“—————————>x

330133 %
h<—v—v—v—v—v—v—v—>x

32101 23

c a
420246
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Part A — Multiple-choice (5 marks)

1 The solution to the equation 2x + 5 = 17 is:

A x=3 B x=4 c

D x=6 E x=11

2 If11 is subtracted from x and the result is 14, then the value of x is:

B x=7 c x=25
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4 Ifthe area of the following rectangle is 32 cm?, then the value of x is:

A x=2 B x=3 (x+5)em
C x=4 D x
4cm
E x=6
The inequality that matches this mumber line is
-~
-
23 45
A x<4 B x>4 C  x<4

D x24 E  x<—4
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Part B — Short-answer
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4 Show each of the following on these number lines.
a  x23 b xislessthan7
-~y -~y

(1+1=2 marks)
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Part B — Short-answer (15 marks)

1 Solve cach of the following equations

4 x-7=14

P
T
I
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x
Z+6=10 f
3

(6 1=6 marks)
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2 Convert the following into equations, then solve for the unknown number.

a  When4 is subtracted from x, the result is 6.

b Twice the value of x is added to 5 and the result is 11

a+

marks)
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3

If F=ma and find m when a=7and F =56
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b Ifv=u+ar, findtwhenv=24,u=8anda=2.

(1+2 =3 marks)
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Exercise 8A
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1 When a=6and b=-3, evaluate the following.

a a-b b ab c B d 3(a+2b)
2 Whenm=4,n=7and p=~2, evaluate the following.

a 4m+p b p@d-n) c “7"' d 2
3 Simplify the following.

a a+2a b 4m-m c 6p+2p d Tm=Tm

e 2m-Tm f 8x+y-x g 8p+dp-3p h Tm=dm+3m
4 Simplify the following.

a Sxx3 b 4px4 c 8xxdy

d 6ax(-5) e axb f 6x+6

o o i Lsa
g mem h 6a+3 0 &
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1 State the missing word or number.
a An equation is a statement that contains an sign.

b Alinear equation contains a variable to the power of
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4 Solve the following.

a 1+5=8 b
d m+8=40 e
g x-3 h
iox-3 K
5 Solve the following
a 8p=24 b
d 15p=15
g h
i k
6 Solve the following equations.
a x+9=12 b x+3=12
d x-7=3 e x-2=12

g =9





